
±0
,0

00

+
9,

60
0

+
3,

00
0

+
3,

30
0

+
10

,1
50

+
2,

75
5

+
3,

15
0

+
7,

25
0

+
7,

65
0

+
7,

25
0

A
kc

e:
A

kc
e:

M
ís

to
 s

ta
vb

y:
 k

.ú
.K

yj
ov

In
g
. 
M

il
o
s
la

v
 Č

e
c
h

K
ar

la
 Č

ap
ka

 2
59

5,
 6

97
 0

1 
K

yj
ov

73
9 

31
3 

81
7

m
ai

l: 
al

fa
ce

ch
@

ce
nt

ru
m

.c
z

1:
10

0

O
bs

ah
:

-
S

t.Ú
: K

yj
ov

Z
od

p.
 p

ro
je

kt
an

t:

M
ě
ří

tk
o:

K
re

sl
il:

In
g.

 M
ilo

sl
av

 Č
ec

h

V
er

on
ik

a 
Š

ur
áň

ov
á

In
ve

st
or

:

Č
ís

. v
ýk

re
su

D
at

um
:

Č
ís

l. 
za

ká
zk

y:

F
or

m
át

:

S
tu

pe
ň
:

P
ro

je
kt

ov
á 
č
in

no
st

 v
e 

vý
st

av
bě

M
ob

il:
E

D
om

ov
 H

or
iz

on
t,

 p
ří

sp
ě
vk

ov
á 

or
ga

ni
za

ce
S

tr
áž

ov
sk

á 
10

96
, K

yj
ov

, 6
97

 0
1

3x
A

4

P
O

H
LE

D
 Č

E
LN

Í -
 Z

Á
P

A
D

N
Í

C
1

C
1

C
1

C
1

C
1

B
1

C
1

B
1

C
1

C
1

C
1

C
1

C
1

C
1

C
1

C
1

C
1

C
1

B
1

C
1

B
1

C
1

C
1

C
1

C
1

P
O

H
LE

D
 Z

Á
P

A
D

N
Í -

 N
O

V
Ý

 S
T

A
VD

1
D

1
D

1

D
1

D
1

D
1

D
1

D
1

F
1

F
1

D
1

D
1

D
1

D
1

D
1

D
1

G
1

C
1

B
1

B
1

B
1

B
1

B
1

B
1

B
1

B
1

B
1

B
1

M
IN

E
R

Á
LN

Í I
Z

O
LA

C
E

 T
L.

15
0m

m
M

IN
E

R
Á

LN
Í I

Z
O

LA
C

E
 T

L.
15

0m
m

M
IN

E
R

Á
LN

Í I
Z

O
LA

C
E

 T
L.

15
0m

m

D
P

S

R
ea

liz
ač

ní
 d

ok
um

en
ta

ce

01
-0

7-
15

/S

07
/2

01
5

D
13

C
3

A
1

A
1

A
1

A
1

A
1

A
1

A
1

A
1

A
1

A
1

A
1

D
.2

2

Z
el

en
ě
 o

zn
a
č
en

é 
za

te
pl

en
í k

on
st

ru
kc

í a
 n

ov
é 

vý
pl

n
ě

Č
er

ve
n
ě

 o
zn

a
č

en
y 

m
ě

n
ě

né
 a

 u
pr

av
ov

an
é 

pr
vk

y

LE
G

E
N

D
A

 
A

 -
 Ú

pr
av

a 
po

vr
ch

ů

A
1 

- 
N

O
V

É
 -

 F
as

ád
a 

- 
te

nk
ov

rs
tv

á 
si

lik
on

 s
ili

ká
to

vá
 o

m
ítk

a 
- 

ba
rv

a 
dl

e 
vý

bě
ru

 in
ve

st
or

a

S
po

jo
va

cí
 k

rč
ek

:
Z

di
vo

 b
ud

e 
za

te
pl

en
o 

m
in

er
ál

ní
 iz

ol
ac

í t
l. 

80
 m

m
, 

kr
ov

 b
ud

e 
za

te
pl

en
 m

in
er

ál
ní

 iz
ol

ac
í t

l. 
22

0 
m

m
(1

00
 +

 1
20

 m
m

)k
ry

tá
 s

ád
ro

ka
rt

on
em

, 
po

dl
ah

a 
za

te
pl

en
am

in
er

ál
ní

 iz
ol

ac
í  

v 
tl.

 1
80

 m
m

P
av

ilo
n 

C
:

Z
di

vo
 b

ud
e 

za
te

pl
en

o 
m

in
er

ál
ní

 iz
ol

ac
í t

l. 
15

0 
m

m
,

so
kl

 b
ud

e 
za

te
pl

en
 p

ol
ys

ty
re

ne
m

 X
P

S
 tl

.1
50

m
m

, 
st
ře

ch
a 

bu
de

 z
at

ep
le

na
 m

in
er

ál
ní

 iz
ol

ac
í t

l.1
40

m
m

LE
G

E
N

D
A

 

B
 -

 S
tř

ec
ha

C
3 

- 
N

O
V

É
 -

 D
ve

ře
 h

lin
ík

ov
é 

s 
iz

ol
ač

ní
m

 d
vo

js
kl

em
 -

 b
ar

va
 b

ílá

D
 -

 K
le

m
pí

řs
ké

 v
ýr

ob
ky

B
1 

- 
pá

le
ná

 k
ry

tin
a 

- 
ba

rv
a 

hn
ě
dá

C
 -

 O
kn

a,
 b

al
ko

no
vé

 d
ve

ře
, v

st
up

ní
 d

ve
ře

C
1 

- 
O

kn
a 

pl
as

to
vé

 s
 iz

ol
a č

ní
m

 d
vo

js
kl

em
 U

 =
 1

,6
 W

/m
2 

- 
bí

lé

D
1 

- 
S

tá
va

jíc
í o

ka
po

vý
 s

ys
té

m
 -

 p
ře

su
nu

t n
a 

za
te

pl
en

í +
 ú

pr
av

a 
- 

po
zi

nk
ov

an
ý 

pl
ec

h

G
 -

 Z
ám

e
č
ni

ck
é 

vý
ro

bk
y

G
1 

- 
O

ce
lo

vé
 z

áb
ra

dl
í -

 p
ře

su
nu

to
 n

a 
za

te
pl

ov
ac

í s
ys

té
m

 -
 n

ov
ě
 n

at
ře

no

F 
- 
Ř

ím
sa

F
1 

- 
N

ov
á 
ří

m
sa

 -
 te

nk
ov

rs
tv

á 
si

lik
on

 s
ili

ká
to

vá
 o

m
ítk

a 
- 

ba
rv

a 
dl

e 
vý

bě
ru

 in
ve

st
or

a

Z
A

T
E

P
L
E

N
Í 

B
U

D
O

V
 A

,B
,C

 

- 
D

O
M

O
V

A
 H

O
R

IZ
O

N
T

 V
 K

Y
J
O

V
Ě

 

- 
B

U
D

O
V

A
 "

C
"

D
13

D
13

D
13

D
13

D
13

D
13

D
13

D
13

M
IN

E
R

Á
LN

Í I
Z

O
LA

C
E

 T
L.

80
m

m
D

13
D

13
D

13
M

IN
E

R
Á

LN
Í I

Z
O

LA
C

E
 T

L.
80

m
m

A
1D
13

D
13

D
13

D
13

, D
14

 N
O

V
É

 -
 P

ar
ap

et
, h

lin
ík

ov
ý 

pl
ec

h,
 d

él
ka

 8
00

,2
10

0m
m

   
   

   
   

   
   

   
   

   
   

V
iz

. v
ýp

is
 k

le
m

pí
řs

ký
 v

ýr
ob

ků

D
14

X
P

S
 P

O
LY

S
T

Y
R

E
N

 T
L.

15
0m

m
- 

S
O

K
L 

-0
,5

M
 N

A
D

 Z
E

M
X

P
S

 P
O

LY
S

T
Y

R
E

N
 T

L.
15

0m
m

- 
S

O
K

L 
-0

,5
M

 N
A

D
 Z

E
M


